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QUESTION 1

On a Nokia 7750 SR, the OAM command \\'svc-ping\\' can be used with options `local-sdp\\' and \\'remote-sdp\\'. Which
of the following is TRUE? 

A. `local-sdp\\' and \\'remote-sdp\\' indicate that all services using these SDPs are pinged. 

B. `local-sdp\\' and `remote-sdp\\' indicate that pings are initiated from both local and remote routers. 

C. Both `local-sdp\\' and \\'remote-sdp\\' take parameters to specify which SDPs are used for the test. 

D. `local-sdp\\' indicates that the ping is sent in-band, and `remote-sdp\\' indicates the return ping is in-band. 

Correct Answer: D 

 

QUESTION 2

Which of the following SAP encapsulations support multiple services on a port? (Choose three.) 

A. dot1q 

B. null 

C. qinq 

D. atm 

E. ipcp 

F. bcp-null 

Correct Answer: ACD 

 

QUESTION 3

In a Layer 2 encapsulation, using Martini, what does the first (top) label represent? 

A. Tunnel Label 

B. VC Label 

C. Operational Control Word 

D. UNI 

E. NNI 

Correct Answer: A 
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QUESTION 4

Which of the following about VPRNs is FALSE? 

A. A VPRN is a Layer 3 service. 

B. A PE maintains a separate forwarding table for each VPRN. 

C. The service provider manages the customers IP addressing. 

D. Multiple VPRNs can be deployed over the same IP/MPLS network infrastructure. 

Correct Answer: C 

 

QUESTION 5

When using MP-BGP for an IPv4 VPRN service, what address family needs to be used for a PE-CE BGP session? 

A. The VPN-IPv4 address family. 

B. The IPv4 address family. 

C. Either IPv4 or VPN-IPv4 address families can be configured. 

D. The same address family must be used for the provider network and the PE-CE. 

Correct Answer: B 
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